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QUESTION 1

The matching law states that when responding is reinforced on concurrent VI-20 and VI-50 schedules, the:
A. number of responses will match the number of reinforcers obtained.

B. proportion of responses for each alternative will become equal over time.

C. organism will respond exclusively to the alternative with the highest rate of reinforcement.

D. proportion of responses across the two alternatives will equal the proportion of reinforcers obtained for those
alternatives.

Correct Answer: D

QUESTION 2

What is the next step in the assessment process if data from the functional analysis do NOT support the original
hypothesis?

A. Base the intervention on the original hypothesis and re-assess after a time lapse.
B. Design a package intervention to address all possible functions of the behavior.
C. Continue to conduct the functional assessment until the data coincides with the original hypothesis.

D. Alter the hypothesis regarding the maintaining variable of the behavior based on the results of the functional
assessment.

Correct Answer: C

QUESTION 3

The number of time intervals in a specific period of time during which a response occurs continuously for an entire
interval is which measure?

A. Partial-interval recording
B. Whole-interval recording
C. Momentary time sampling
D. Percentage of occurrence

Correct Answer: B

QUESTION 4
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In order to evoke a mand for "cookie," the behavior analyst shoulD.
A. give the child a cookie.

B. deprive the child of cookies.

C. show the child a picture of a cookie.

D. say "cookie" and praise repeating the word.

Correct Answer: B

QUESTION 5

Reinforcing closer and closer approximations to the final desired behavior involves:
A. chaining.

B. differential reinforcement.

C. precision teaching.

D. response fading.

Correct Answer: B

QUESTION 6

The use of a withdrawal design is LEAST appropriate when:

A. evaluating an intervention for severe problem behavior.

B. evaluating the effects of an intervention for behavior that has multiple functions.
C. extraneous variables cannot be controlled.

D. multiple participants are being evaluated.

Correct Answer: A

QUESTION 7

Adherence to "procedural integrity" promotes generalization by facilitatinG.
A. normalization.

B. ethical treatment of consumers.

C. consistency of instruction.

D. spontaneous changes in intervention procedures.
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Correct Answer: C

QUESTION 8
An establishing operation is any change in the environment whicH.

A. momentarily alters the effectiveness of the consequence for a behavior that was previously followed by
reinforcement.

B. alters the timing of a behavior and momentarily alters the frequency of the behavior that was previously followed by
reinforcement.

C. alters the effectiveness of some object or event as reinforcement thus momentarily changing the likelihood of
behavior that was previously followed by that reinforcer.

D. alters the effectiveness of some object or event as a contingency-shaped rule and at the same time changes the
momentary frequency of the behavior that was previously followed by reinforcement.

Correct Answer: C

QUESTION 9

Having obtained appropriate consent, a behavior analyst wishes to communicate data to non-behavior analyst
colleagues and family of the client. The most appropriate presentation strategy is:

A. standard celeration charts.

B. short video clips of client performance and line graphs.

C. bar graphs comparing client performance to performance of peers.
D. short video clips with a written anecdotal report.

Correct Answer: B

QUESTION 10

When shopping with her dad, Sally knocks items off the shelf, especially canned goods. The cans make a loud noise
when they hit the floor. Her dad decides to teach her an alternative behavior.

What alternative behavior is the BEST choice to teach?

A. Sally pushes the shopping cart with both hands.

B. Sally drops items into the cart when her dad gives them to her.

C. Sally keeps her hands in her pockets while in the store.

D. Sally holds dad\\'s hand while shopping and gets to let go when quiet.

Correct Answer: B
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QUESTION 11

In self-control, where does the ultimate control lie? (Or, why is self-control a misnomer?)
A. With the self

B. The choice of the person

C. In the environment

D. With a contract manager

Correct Answer: C

QUESTION 12

Which schedule of reinforcement is most effective at maintaining behaviors?
A. Continuous reinforcement

B. Intermittent reinforcement

C. Extinction

D. Ratio

Correct Answer: B

QUESTION 13

When using an alternating treatments design it is important to randomly:
A. assign participants to treatment conditions.

B. select participants from the population of interest.

C. order treatment conditions presented during each phase.

D. change each criterion level.

Correct Answer: C

QUESTION 14
Which of the following is NOT a dimension of applied behavior analysis?
A. Effective

B. Technological

Latest BCBA Dumps | BCBA PDF Dumps | BCBA Exam Questions

5/6


https://www.pass4itsure.com/bcba.html
https://www.pass4itsure.com/bcba.html
https://www.pass4itsure.com/bcba.html

. VCE & PDF https://www.pass4itsure.com/bcba.html
ﬁ 2024 Latest passditsure BCBA PDF and VCE dumps Download

— PassditSure.com

C. Applied
D. Empirical

Correct Answer: A

QUESTION 15

For which of the following would it be appropriate to measure duration?

A. Amy responds very slowly to instructions during her discrete trials teaching sessions.

B. Ethan leaves his work station and wanders around the building.

C. Sarah takes so long to begin her math assignments in class that she is never able to finish on time.
D. Ryan is trying to increase the speed of his typing at the computer keyboard.

Correct Answer: B
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